











Lab (Hardware) -
Option #1 (single +5V power supply)

6) Calculate the voltages and currents when

Vin = +0.3V relative to circuit ground (2.8V)
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Vin = -0.3V relative to circuit ground (2.2V)
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7) Simulate this curcuit in CircuitLab with

V1 =0.3Vp, 1kHz sine wave
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Option #2 (dual power supplies: +6V & -6V)

6) Calculate the voltages and currents when

Vin = circuit ground + 0.3V

« Assume [Vbel = 1.4V

(Darlington pair)
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V1 = circuit ground - 0.3V
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Hardware: @ 600Hz

V1 =168mVrms

V2 =686mVrms (x11 amp)

V3 =680mVrms

LM833

-1.2V

-2.6V

150uA

+6V

off

c 6144 or

TIP112
NPN

e -1.2Vv3

-6V

e
TIP117

(¢}

T 150mA

PNP 8 Ohm

on

;

push-pull amplfiier



7) Simulate this curcuit in CircuitLab with
+ V1 =0.3Vp, 1kHz sine wave



8) Build this circuit in hardware. With a sine wave input, (1kHz) verufy that that

« V2=4*%V1 (relative to circuit ground )
- V3=V2 (relative to circuit ground )
8) Demo

« Replace V1 with an audio signal and verify the song plays on the speaker



